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Accelerated overview



Installation

pip



Setting up an optimisation routine



Running an optimisation routine
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zg; efp; apk; abs



Ingredients of a routine



Where are routines stored?
exp/stan/nmr/py/user
├── poise.py
└── poise_backend

├── __init__.py
├── backend.py
├── cfhelpers.py
├── costfunctions.py
├── costfunctions_user.py
├── example_routines
│ ├── asaphsqc.json
│ ├── p1cal.json
│ ├── [...]
│ └── solvsupp4.json
├── get_cfs.py
├── optpoise.py
├── routines
└── shared.py

{

"name": "p1cal",

"pars": ["p1"],

"lb": [40.0],

"ub": [56.0],

"init": [48.0],

"tol": [0.2],

"cf": "minabsint",

"au": "poise_1d”

}
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import numpy as np

def minabsint():

r = get1d_real()

i = get1d_imag()

mag = np.abs(r + 1j * i)

return np.sum(mag)
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Defining cost functions

import numpy as np

def minabsint():

r = get1d_real()

i = get1d_imag()

mag = np.abs(r + 1j * i)

return np.sum(mag)

numpy

numpy



Defining cost functions

numpy

numpy



Defining cost functions

•

•

• dpl

•

•



The optimisation algorithm itself



The optimisation algorithm itself



NM vs BOBYQA



NM vs BOBYQA



Derivative-based algorithms



How much SNR do you need?



How much SNR do you need? (or NS)

•

•

•



Scripting POISE

GETCURDATA
int old_expno = expno;
DATASET(name, 99999, procno, disk, user)
RPAR("P1_CALIBRATION", "all")
GETPROSOL

XCMD("sendgui xpy poise p1cal -q")

float p1opt;
FETCHPAR("P 1", &p1opt)
p1opt = p1opt/4;

DATASET(name, old_expno, procno, disk, user)
STOREPAR("P 1", p1opt)
Proc_err(INFO_OPT, "Optimised value of p1: %.3f", p1opt);
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Generality is a tradeoff

•

•

•

• pulsecal fast rga poisecal



Thanks [and (other) questions]

yongrenjie/penguins


